Maytag MFS18PDFTS 11 - FRAME AND TUB SUPPORT PARTS

FRAME AND TUB SUPPORT PARTS
For Model: MFS18PDFTS

(Stainless)
18
21
e S |
-3,
|| S
*—f.. el
= T '
t '
19 g

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
14 W10356262

Maytag Commercial Maytag MFS18PDFTS Washer Parts Parts Diagram 11 - FRAME AND TUB SUPPORT
PARTS
Click on the part number to view part

Original Part Number Replaced By Part Description
1 W10357099 Tub Support
2 W10357100 Frame
3 23001661 Nut M10
4 23003458 Washer Foot
5 W10360062 Counterweight
8 23002984 Screw
10 23003451 Spring Support
11 23003453 Spring
12 23003454 Holder, Spring Lu
13 23003455 Rubber Washer
14 23003456 Upper Rubber Spacer
16 23003459 Rubber Lu
18 23001661 Nut M10
19 23003788 Washer M10.5
21 W10357101 Bolt M10x100

25 23002356 23001241 Locking Nut, Self Lu


http://www.pwslaundry.com/c-299414-commercial-maytag-mfs18pdfts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7805429-maytag-w10357099-washer-tub-support.html
http://www.pwslaundry.com/i-7805430-maytag-w10357100-washer-frame.html
http://www.pwslaundry.com/i-7798038-maytag-23001661-washer-nut-m10.html
http://www.pwslaundry.com/i-7799037-maytag-23003458-washer-washer-foot.html
http://www.pwslaundry.com/i-7805470-maytag-w10360062-washer-counterweight.html
http://www.pwslaundry.com/i-7798757-maytag-23002984-washer-screw.html
http://www.pwslaundry.com/i-7799030-maytag-23003451-washer-spring-support.html
http://www.pwslaundry.com/i-7799032-maytag-23003453-washer-spring.html
http://www.pwslaundry.com/i-7799033-maytag-23003454-washer-holder-spring-lu.html
http://www.pwslaundry.com/i-7799034-maytag-23003455-washer-rubber-washer.html
http://www.pwslaundry.com/i-7799035-maytag-23003456-washer-upper-rubber-spacer.html
http://www.pwslaundry.com/i-7799038-maytag-23003459-washer-rubber-lu.html
http://www.pwslaundry.com/i-7798038-maytag-23001661-washer-nut-m10.html
http://www.pwslaundry.com/i-7799249-maytag-23003788-washer-washer-m10-5.html
http://www.pwslaundry.com/i-7805431-maytag-w10357101-washer-bolt-m10x100.html
http://www.pwslaundry.com/i-7798394-maytag-23002356-washer-nut-m10.html
http://www.pwslaundry.com/i-7797806-maytag-23001241-washer-locking-nut-self-lu.html

26 W10357102 Hose Support

28 23002756 Lockwasher

30 W10361724 BOLT M12X40

32 W10357103 Harness Bushing

laundry company*

laundry company®

laundry company®



http://www.pwslaundry.com/i-7805432-maytag-w10357102-washer-hose-support.html
http://www.pwslaundry.com/i-7798466-maytag-23002461-washer-screw.html
http://www.pwslaundry.com/i-7798606-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-7797858-maytag-23001312-washer-mut-m6.html
http://www.pwslaundry.com/i-7805471-maytag-w10361724-washer-bolt-m12x40.html
http://www.pwslaundry.com/i-7798298-maytag-23002212-washer-bushing-nut.html
http://www.pwslaundry.com/i-7805433-maytag-w10357103-washer-harness-bushing.html
http://www.pwslaundry.com/i-7799044-maytag-23003465-washer-holder-spring.html

	Maytag MFS18PDFTS 11 - FRAME AND TUB SUPPORT PARTS

